HENEREREHES

Mt

SH6E2H198 (H)

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &

BERXFE 768 B> X 27.3 1,959 1,019
RXAIH LA 456.4 879 230

JUH LA 21.0 803 51

LEHLA 150.5 392 120

<AOLA 31.5 689 250

XA LA 252.3 340 20

oaoz A 15.6 1,849 1,000

F+77>39 88.2 550 250

HFHS 69.7 70 20

L ADE 11.6 2,300 1,220

JdEHAN 62.8 130 30

SFIA 45.6 2,900 1,000

TRIRD 38.3 1,696 20

JdF 16.8 1,033 40

Y= 82.5 5,596 950

10€ |12 HhD>5TA 308.7 2,400 1,759

It 1,678.8




§::3=:) (BT ¢ kg )
JRETELE =V n = = 1B /[E] B &
Ao e 10 (/2 HD>TOA 547.1 3,460 2,500
e 30 |EXTITYVRS 318.3 229 70
ESW XN 28.5 740 470
D NDEYE 27€ |BEhIOY 1,347.5 400 300
ait#E 3,920.2




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B /[E] B &

EEXRIFE 768 |E5 X 348.5 2,500 1,000

A2HLA 69.7 650 200

XAXF 59.4 500
#0D 32 |lESX 21.3 2,600 1,100
he 308 (Y451 888.9 1,200 1,000

aituE 1,387.8




